
Time: 10 Minutes Paper Math 5 (T-1) Total Marks: 10

1st Month, 3rd Week, 4th  Day Multiplication and Division 

Q.No.1. Choose the correct option. (1 x 3 = 3) 
i) If the price of one bike is Rs. 74 550 then the price of 12 bikes will be:

 12  74 550 
(a) Rs. 794 800 (b) Rs. 785 500 (c) Rs. 885 600 (d) Rs. 894 600

ii) Ahmad has Rs. 10 000. He wants to distribute it among five children. How
much amount will each child get?

 5  10 000 
(a) Rs. 200  200 (b) Rs. 2 000  2 000

(c) Rs. 1 005  1 005 (d) Rs. 9 995  9 995

iii) There are 3 239 blocks in 79 rows. How many blocks are there in one row?

 3 239  79

(a) 43 (b) 42 (c) 41 (d) 40

Q.No.2. A toy factory manufactures 28 550 toys in 25  days. How many toys
will it manufacture in a day? (1 x 2 = 2)

 28 550  25 
_________________________________________________________________

_________________________________________________________________

Q.No.3. Omar's monthly income is Rs. 13 582. Find out his total income in
134 months? (1 x 2 = 2)

 134  13 582 
_________________________________________________________________

_________________________________________________________________

Q.No.4. Aliya has Rs. 22 580. She wants to distribute among them. 18 needy
people. Find, (1 x 2 = 2)

 18  22 580 
a) How much money will each person get?    (a

__________________________________________________________________

b) How much money will be left?    (b

__________________________________________________________________
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